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x(t)=-

> dsolve(diff (x(t),t, t) =-
x(t)=_Cle_E sin (3\/_t]+ C2 cos(3mt) 1)

=> dsolve(diff (x(t),t,t) =-

> dsolve(diff (x(1), 1, 1) = x(

) —0.2- diff (x(1), ())

t) —2-diff (x(1), 1), x(2))
x(t)=_CI e"+_cz et 2)

1) —20- diff (x(1), 1), x(1) )

(t)=_CI e(_10+3m)t+_CZ e_(10+3m)’ (3)

> dsolve( {diff (x(t),t,t) =-x

—02 diff (x x(0) =1,D(x) (0) =-2},x(¢))

19Tl e v in(”_t) T 3\/_1)

> plot(rhs(%), 1=0..50)
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> dsolve( {diff (x(t),t,t) =-x(t)

(> plot(rhs(%). t=0.50)
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—2-diff (x(#),1),x(0) =1,D(x) (0) =-2}, x(2))
x(t)=e'—e't (5)
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B dsolve({diff (x(t), t,t) =-x(t) — 20- diff (x(¢), t), x(0)
x(t):( L 4ﬁ)e(_1o+3m)t+(

=1,D(x)(0) =-2},x(1))
4\/_J (10 +3y1T) ¢ (6)
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> plot(rhs(%),t=0..50)
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